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00:00  James | just noticed one plus one is two, So you couldn’t get that so | thought
about one times two, and that will be two and then add one, and that’s
three.
00:11 G4 And then that’s how you figured out this rule.
01:24 [Ariel and James are working on the Guess My Rule Problem 1:
X Y
0 1
1 3
2 5
3 7
4 9
5 11]
00:13 G4 And then you verified and said it was all right. Do you want another
problem?
00:15  James Whatever.
00:17 G4 Alright, here you go. Let’s try this one.
[G4 gives the Guess My Rule Problem 2 sheet:
X Y
0 5
1 7
2 9
3 11
4 13
00:22  Avriel Five plus two. Oh, this is easy. It’s the same thing, just ... wait a minute,
yeah, it is the same thing, no, no it’s not, yeah, yeah. It’s the same thing.
00:31 G4 What do you mean by same thing?
00:32  Ariel It’s zero times two plus five is five.
[There is a lot of background noise]
00:38  Avriel Zero times two plus five is five. One times two is two plus five is is
seven. Then two times two, wait a minute, | mean two plus seven ...
00:49  James Three times five is eight, | mean, fifteen, three times five is fifteen ...
00:58  Ariel I didn’t say five, | said plus five. Its times two...
01:00  James Plus five. Three times two is Six.
01:04  Ariel So one times two is two plus five is seven and then two times two is four

plus five is nine, three times three is six, | mean three times... two, two,
two, two [taps repeatedly with his finger in between the columns], let me

write.
01:19  Ariel Times two plus five [writes x2 + 5 on the side of the table]
01:23  James I got this big O mark.
01:25  Avriel Zero times two plus five equals five [writes x2 + 5 in between the two

columns]
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01:30  Ariel [pointing his finger on the values in the table] And then look one times
two is two and two plus five is seven. Then two times two is four and
plus five is nine. Three times three, times two, two, two, is six plus five
is eleven, then four times two is eight plus five is thirteen.

01:49  Ariel [looks at G4] This is easy. Done. Next.

01:52 G4 [laughs] How do you compare the first one and the second one when you
were telling me it is the same thing?

01:56  Avriel [shuffling the papers] Because it is both times two. You are just
changing the adding. Next [taps his pen on the table and looks at G4]

02:00 James Times something plus something. Now we can take a break.

02:08 G4 Do you think that there’s another rule that we can have? Or do you
think that is the only rule we can get?

[James has written “x2 + 5” in the Guess My Rule Problem 2 sheet. He
has also written 25 in the X column and 55 in the Y column.]

02:14  Avriel That’s the only one we can get.

02:15  James Times, no, times four plus no...

[Ariel and James are working on the problem]

02:32  Avriel Oh, | see a pattern. | can’t even do that, it’s too hard. | see a pattern
though. It is going to be straight up. I’m done.

02:43  James Ohhhh. I see it. It’s add by five, Zero plus five. No, first is five, you add
five right here. Then you add six, then you add seven, then you add
eight, then nine, and then right here you add twenty-five, thirty.

03:07  Ariel Hold on. How are we doing this again?

03:10 [James has written in between the columns:

X Y
0+5 5
1+6 7
2+7 9
3+8 11
4+9 13

25+30  55]

03:14 G4 Wait a second. So, explain to me what you are doing here.

03:16  James Because zero plus five is five and then one plus six is seven, and then
two plus seven is nine, then three plus eight is eleven, and four plus nine
is thirteen [looks at G4]

03:31 G4 And what about for twenty-five?

03:33  James And then twenty-five plus thirty is fifty-five.

0335 G4 Why thirty?

03:37  James Because twenty-five plus thirty is fifty-five. Well, I just put that because
you asked me what’s twenty-five plus ...

03:44 G4 I was just curious to see because | see here you said I’m going to add

five here, then I’m going to add six here, then I’m going to add seven
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here, how you know when you get down to twenty-five, you are going to
add thirty there?
Ten, eleven, twelve, then thirteen, and then fourteen, and then fifteen
[looks at G4] and then for twenty-five ...
And then you are telling me that you get to thirty?
[nods]
What if | wanted to know the value for eighty-two?
You mean we can write eighty-two right here?
Hmm, hmm.
Then you will try to [mumbles and looks at the Guess My Rule sheet]
[to James] Do you want Ariel to help you? Do you want to explain to
him what you have found?
No, | don’t remember.
OK, then how about if I ask you for eighty-two, X is eighty-two?
X is eighty-two? And then you would just....
Oh X is eighty-two? You said that that was eighty-two? [James gestures
to the paper]
Oh, that’s easy.
Oh, I’m sorry, I’m sorry. If X was eighty-two.
[There is some inaudible talk between James and G4 and there is a lot of
background noise.]
You would add um zero, X, oh eighty-two... It’s One hundred and sixty-
four and then you gotta add five so [mumbles and writes] one hundred
and sixty-nine.
OK, so what did you use to get this number?
Multiply eighty-two by two and then add five to the answer and then |
get one hundred and sixty nine.
[James has written:

82

x2

164
+5
169]

OK, so this was using this equation. [inaudible].
Yeah.
Ok, and then you told me you found another way of finding the
numbers?
Yeah, and then you notice that eighty-two plus ...
[to Ariel] Can you explain to R2 what you have found here?
Oh, for like every number you add another one for like zero is five, since
you’re going to one, now you add another is six, going to two you add
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another is seven, going to three you add another is eight, going to four
you add another is nine.

OK. And so how would you express that rule?

Huh? Well, the first rule that we came up with was times two plus five.
Because zero times two plus five is five. One times two is two plus five
Is seven and then we can up with ...

Does it work for the others?

Yeah, it worked for all of them... and then we came up with this one.
Can you show me?

[writes 0x2 + 5 = 5] Zero times two plus five equals five.

[writes 1x2 + 5 = 7] One times two plus five equals seven.

Wait a minute. Yeah, yeah.

[writes 2x2 + 5 = 9] Two times two plus five equals nine.

[writes 3x2 + 5 = 11] Then its three times two plus five equals eleven.
And the pattern is five plus two is seven plus two is nine plus two is
eleven plus two is thirteen.

[to Ariel] Do you and James agree on that?

Yeah.

Have you guys talked about it?

Yeah.

OK, would you like another challenge?

OK.We have already done two.

Ah, you have done two of them. Let me give you a third one. [goes away
from the table]



